ww WURTH

PINNAPULTIT @dmm 6 8 10 12 16 18 20 24
emm 75| 10 12 15 20 22 25 30
Lmm EXRANNEHS 8.8 r:;)rg/zw ;i iz 322/615 3:/29 443/; 4:/261 52/25 565/(29
18 025086 18 @ mm o
25 02508625 |0250 0625 | e — |T' ) [d 5 630 Sinkitty
M6 | 40 |0250 86 40 e [—— 35 025081635 0250 016 635
45 025006 45 40 [0250 81640 [0250 016 640
60 0250 86 60 45 (025081645 |0250 016 645
20 02508820 02500820 50 [025081650 [0250016 650
25 0250 88 25 55 0250816 55
30 02508830 |0250 08 30 60 0250816 60 0250 016 660
35 |0250 88 35 70 0250816 70 0250 016 670
40 |025088 40 |0250 08 40 M16 | 80 0250816 80
45 0250 08 45 90 [025081690 |0250 016 690
M8 102508850 1025008 50 Som |I™ 100 0250816 100 0250 016 610
55 (02508855 |025008 55 tamaton Sinkitty 120 0250816 120 [0250016 612
60 02508860 |0250 08 40 25 0250812 25 140 10250816140 0250016614
70 02508870 |025008 70 30 |025081230 |0250012 230 160 10250816 160
90 [0250 88 90 35 |025081235 0250012 235 ;]78 ETIrRAT) 0250016 617
190 |0250 88 190 40 025081240 |0250 012 240 230 10920 815 236
22 0250810 22 45 025081245 0250 012 245 =50 10520 827 150
25 025081025 |0250 010025 50 [025081250 0250012 250 M27 a5 200
30 025081030 |0250010 030 50 025081260 |0250 012 260 M20 |50 1025082050 0250020 050
35 0250010 035 65 0250012 265 140 0250024 414
40 1025081040 0250010 040 70 025081270 0250012270 M24 150 0250 024 415
25 0250010 045 80 025081280 0250 012 280 a2 |60 10250842160
50 025081050 |0250 010 050 mi2 | 85 0250012 285
55 0250010 055 100 [0250 812 100 [0250 012 210 S mm | Lom
M10 | 60 [025081060 |0250 010 060 };8 8;?821; };8 85288};;}; M10 | 45 0250 110 045
70 1025081070 |0250010 070 M12 | 60 0250 112 060
150 [0250 812 150 0250012 215
80 [025081080 |0250010 080 170 10250 812 170 30 0250 116 30
90 |025081090 [0250 010 090 180 10250 812 180 Mmi16 10 0250 116 100
100 [0250 810 100[0250 010 100 190 10250 812 190 110 0250 116 110
120 0250 810 1200250 010 120 220 0250012 222 M20 | 150
140 |0250 810 140 250 0250 812 250 M24 }38 gggg }gj }28
5 0250 810 265 280 0250 812 280

POHJATULPA _ _ |
e uusiokolo ) vusiokanta, %}

Kuusiokolo

DIN 906 DIN 908 laipallinen DIN 910
Koko AV Pinnoittamaton
R1/8" 5 0241 740 001 R1/4" ) 0241760012 R1/4" 13 0241 500 14
R 1/4" 7 0241 740 003 R3/8" 8 0241760014 R 3/8" 17 0241 500 18
R 3/8" 8 0241 740 008 R1/2" 10 ] 0241760016 R1/2" 19 0241 500 20
R1/2" 10 0241 740 006 R3/4" 12 0241760018 R 3/4" 24 0241 500 26
R1” 17 0241 740 007 R1” 17 0241 760 020 M10x 1 10 0241 001 01
Mox1 3 0241 750 601 R1 1/4" 22 0241 760 024 M12x1,5 13 0241001 215
M8x1 4 0241 750 801 R11/2" 24 | 0241760026 M14x1,5 13 02411415 ZN
M10x1 5 0241 751 01 M10x1 2 1024185101 MI16x1,5 17 | 02411615 ZN
M12x1,5 6 0241 751 215 mjﬁg 2 ggj: 221 j:g M16x 1,5 17| 0241001 615
M14x1,5 7 0241751 415 :
M16x] 5 8 0241751615 M16x1,5 8 0241851615 x;g: 1? :; 853: (l)gzlglzsN
: M18x1,5 8 0241 851 815 :
M18x1,5 8 0241751815 M20x1 5 10 0241852015 M22x 1,5 19 0241002 215
M20x1,5 10 0241752015 M22x1.5 10 10241852215 M26 x 1,5 24 0241002 615
M22x1,5 10 0241752 215 M26x1.5 12 0241852 615 M27 x 2 24 0241 002 720
M24x1,5 12 0241752 415 M27x2 12 0241 852 720 M30x 1,5 24 0241 003 015
M26x1,5 12 0241752 615 M30x1,5 17 | 0241853015 M33 x 2 27 0241 003 320
M30x2 17 0241753 020 M30x2 17 0241 853 020 M42 x 2 30 0241 004 220
M33x2 14 0241 753 320 M33x2 17 | 0241853 320
M36x2 19 0241 753 620 M36x2 19 0241 853 620
M48x2 24 0241 754 820 M42x2 22 0241 854 220
M52x2 24 0241 755 220 M48x2 24 0241 854 480
M56x2 32 0241 755 620 M56x2 32 0241 855 620
M60x2 32 0241 856 020
Mé4x2 32 0241 856 420

2.78



